Final --Practi ce Exam #2

Econoni cs 101 PRI NT NAME
Prof essor H.  Quirnbach STUDENT | D NO.
Fi nal Exam GROUP TI ME
SCORE
| NSTRUCTI ONS:
1. Fill in all requested information above and on the answer sheet.

2. There are 40 nultiple choice questions and one problem Enter the ONE best
answer for each multiple choice question on the answer sheet. There is no
penalty for guessing. On the answer sheet, conpletely darken the letter
representing your choice for each question. Do the problemon the test paper
itself.
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1. Suppose that the price of bread is $1 per loaf and that the wage rate for
bakers is $6 per hour. |If a conpetitive bakery finds that the marginal product
of its bakers' labor is 8 |oaves per hour of |abor, the bakery shoul d

fire some bakers.

rent nmore ovens.

hire sone nore bakers.

reduce its output.

shut down.

Pooow

2. The point in a Production Possibility Frontier diagramat which an econony
actual ly produces tells us sonething about how that economnmy answers

t he "What ?" question

t he "How?" question.

t he "For Whon®?" question

Both a. and b.

Al'l of the above.

Pooow

3. Suppose a nonopol i st faces a demand curve given by P(Q =20 - Q where Qis
total industry output and P is the nmarket price. The nmonopolist's profit-
maxi m zing output would be Q=8 if its marginal costs were constant at

a. 4.
b. 8.
c. 12.
d. 16.
e. 20.

4. Suppose a conpetitive industry faces a demand curve given by P(Q = 20-Q
where Qis total industry output and P is the market price. The industry
equi libriumoutput would be Q=8 if firms' margi nal costs were constant at

a. 4.
b. 8.
c. 12.
d. 16.
e. 20.

5. A contestable industry is characterized by
free entry.

no sunk costs.

zero profits in equilibrium

both a. and b.

all of the above.

PoooTw

6. The "free rider problent

a. arises when public bus fares are set bel ow cost.

b. is associated with all goods produced by public agencies.

c. refers to the fact that people benefit froma public good even when t hey
do not have to pay for it.

d. both a. and b.

e. both b. and c.
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7. Suppose that when the price of good x is $5, the last unit Joe rationally
purchases has a nmarginal social benefit of $8. Which of the follow ng nmust be
true?

a. Good x generates a negative externality of $3 per unit.

b. Interms of his own utility, Joe should be buying nore x.

c. The firm producing good x is selling at a price bel ow margi nal cost.

d. If Joe is acting rationally, then there is a positive externality being
gener at ed.

e. The industry producing x is inperfectly conpetitive.

8. The "capture" theory of regul ati on suggests that

a. price should be regulated to equal nmargi nal cost, so that the maxi mum
soci al welfare can be captured.

b. firms which have sunk significant costs into an industry can have their
profits captured by aggressive regul ation, since they cannot nove their assets
to other industries.

c. regulatory policy can be captured by consumer interests, which results
in regulated firms making i nadequate return on their investnents.

d. regulatory policy can be captured by the firnms which are supposed to be
regul ated, with the result that regulatory policy may be set to the detrinent of
overall social welfare

e. both b. and c.

9. FirmY faces a wage rate of $8/hr and a rental rate for machines of $4/hr.
VWhen firmY chooses a cost-mnimzing i nput conbination, its marginal rate of
techni cal substitution

a. is 2.
b. is 4.
c. is 8.

d. cannot be determ ned w thout knowing the firm s nmargi nal products of
| abor and capital
e. cannot be determ ned without knowi ng the input levels the firm chooses.

10. Which of the following statements is likely to be true?

a. Men's demand for Calvin Klein jeans is less elastic than their demand
for pants in general

b. If today the price of gasoline permanently rises by $1/gal, ny denmand
response will be less elastic six nmonths fromnow than it will be this week.

c. The denmand for "pet rocks" is less elastic than the demand for housi ng.

d. Statenents a., b., and c. are all likely to be true.

e. None of the above is likely to be true.

11. If x is a substitute for y, then the cross elasticity between the two is
surely

negati ve.

greater than one.

| ess that negative one.

positive.

zero.

Pooow
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12. The margi nal "grody" of "zwarf" is found by

a. taking the ratio of total grody to total zwarf.

b. taking the ratio of change in grody to change in zwarf, for smal
changes is zwarf.

c. taking the ratio of the percentage change in grody to the percentage
change in zwarf.

d. maxi m zi ng grody.

e. zwarfing ne out with a spoon

13. Which of the following would tend to nmake an industry nore coll usive?

a. A large nunber of firms being in the industry.
b. Firms havi ng heterogeneous costs.
c. Price | eadership.
d. Orders being lumpy and i nfrequent. Geor ge
e. Both b. and c. Left R ght
14. For the gane whose payoffs are listed in the table,
the nost |ikely outcone is Hi gh 5 6
a. M ke goes high; George goes right. 15 8
b. Mke goes high; George goes left. M ke
c. Mke goes |ow, George goes right. 10 12
d. Mke goes |ow, George goes left. Low
e. No one outcone is nost |ikely. 10 0

15. If the government antitrust authorities broke up an industry price-fixing
ring, which of the follow ng would probably fall?

. out put

profits

wel fare

consuner surpl us

Al of the above would probably rise.

©oooTp

16. Which of the follow ng statements is/are true?

a. A mninumwage | aw harns enpl oyers and benefits all workers.

b. To be effective, a "ceiling price" policy nmust set the ceiling price
above the market equilibriumprice.

c. If a conmpetitive industry produces pollution when it produces its
product, a deadwei ght | oss appears above the demand curve.

d. Both a. and c.

e. All of the above.



For a consunption good, Q
In the figure at the right are graphed two
possi bl e demand curves, DD and dd, and two
possi bl e supply curves, SS and ss. Their various
intersection points are |labeled A, B, C, and F
Use this figure to answer the next 3 questions.

17. Which of the following shifts in equilibrium
poi nts could represent the effect of an increase
in incone (ceteris paribus) if the good is normal?

a. Ato B
b. Bto C
c. Cto F
d Fto A
e. Fto B
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18. Which of the following shifts in equilibriumpoints could represent the
effect of an increase in the wage rate (ceteris paribus)?

a. Ato B
b. Bto C
c. Cto F
d Fto A
e. Bto F

19. Which of the following shifts in equilibriumpoints could represent the
effects of a cost-reducing technol ogi cal innovation and an increase in income if

the good is inferior?
Ato
Bto
Cto
Fto
Bto

Poooe
MmMm™W>0O0

20. |
P < SATC.

P < LATC.

P < SAFC.

P < SMC

None of the above.

©PoooTpS

the short run, a conpetitive firmwll surely shut down if

21. The "nore is better"” property inplies that an indifference curve is

upward sl opi ng.

U shaped.
backwar d- bendi ng.
downwar d sl opi ng.

Pooow

This property has no specific inplication about the shape of an IC.
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22. Vol untary exchanges in a market are Pareto-inproving
only if the market is perfectly conpetitive.

only if there are no positive externalities.

only if the market price exceeds the seller's SATC
only if the buyers are richer than the sellers.

if there are no negative externalities.

Pooow

23. An increase in the price of garden tools causes Jane to cut back on her rose
garden, much to the dismay of Jane's nei ghbors, who |love to | ook at Jane's
beautiful flowers. This situation contains an exanpl e of

a. a positive externality.
b. a backward-bendi ng supply curve for roses.
c. a negative supply elasticity for garden tools.
d. a negative income elasticity in the demand for roses.
e. a Rose Garden strategy.
24. Let's try this again: |If the nmultiple choice section of this test is worth

four times as nmuch as the problemsection, to allocate your tinme optimally on
this test,

a. you should spend four tinmes as much tinme on the nultiple choice part as
on the problempart.

b. you should allocate your tinme so that the last mnute spent on the
mul tiple choice part earns you four tines as many points as the last mnute
spent on the problem part.

c. you should allocate your tine so that the last mnute spent on the
mul ti ple choice part earns you the same nunber of points as the last mnute
spent on the problem part.

d. Al three of the above rules are equally optimal

e. I nadequate information is provided to determine the optinmal tinme
al | ocati on.

25. Suppose that the long run average cost curve of each firmin industry X has
an identical "U' shape. |If there are no barriers to entering this conpetitive
i ndustry and input prices do not increase if new firns enter, then the |long-run
i ndustry supply curve is

a. upward sl opi ng.
b. U shaped.
c. backwar d- bendi ng.
d. vertical
e. horizontal
26. Joe's demand for inported beer has an incone elasticity of 3. If Joe's

i nconme increases from $100 to $130 per week, the nost likely change in his
demand for inported beer will be

an i ncrease of 10%

an i ncrease of 30%

an i ncrease of 90%

an increase of 115%

an i ncrease of 300%

Pooow
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$/ uni t
27. In the graph at the right, AC represents a NCL
firms average cost curve. Wich of the possible
mar gi nal cost curves shown is nost likely to be
this firms true margi nal cost curve?
a. M1 MC2
b. M2
c. M3 AC
d. MC1 and MC3 could both be the true MC
curve. M3
e. M2 and MC3 could both be the true MC
curve. 0 Q

28. The engineering rul e which states how rmuch out put can be produced from each
conbi nation of inputs is

an engi neering standard.

the total cost curve.

a performance standard.

t he margi nal cost curve.

t he production function.

Pooow

29. VWich of the followi ng types of pollution control policies do NOT give firns
an incentive to find cheaper nmeans of pollution control?

a. engi neering standards

b. performance standards

c. marketable permts

d. pollution taxes

e. Al of the above reward a firmfor finding cheaper neans of pollution
control

A nmonopol i st faces the cost and denmand P
conditions graphed in the figure. Use this T
i nformati on for the next two questions.
30. If the nonopolist holds a patent, the it 8
mar ket price and output will be P2 & De/rmnd
a. P1 and QL. G £
b. P2 and Q. P3 ™
c. P3 and @B. H ALQ
d. P4 and Q4. P4 E_M(Q
e. The nonopolist will shut down,
since MC < AC.
0 QA @ 0
31. If the nonopolist holds a patent, the MR(Q
deadwei ght loss will be the area
a. T-P1-A
b. T-P2-B
c. T-P4-F
d. AGE
e. BHF
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32. Al's income goes up 5% at the sanme tine the price of shoes goes up 3% If
Al's shoe demand has an inconme elasticity of +0.8, yet the quantity of shoes he
demands i s unchanged, then the own price elasticity of his demand nust be

a. -4/3.
b. +3/5.
c. -8/5.
d. -3/8.
e. -5/3.

33. Wen the price of good Z increases, the quantity of Z demanded decreases but
total spending on Z increases. W can conclude fromthis that

Z is a luxury good.

Zis a Gffen good.

t here nust be many cl ose substitutes for Z

Z is elastically denanded.

Z is inelastically demanded.

Pooow

34. A consuner derives his income entirely fromlabor and gets utility from
consum ng goods and leisure. If this consuner's wage rate rises, his budget
line

a. rotates out about the |eisure axis intercept.

b. rotates in about the goods axis intercept, since |eisure has gotten nore
expensi ve.

c. makes a parallel outward shift, since the consumer's income has
i ncreased.

d. rotates out about the goods axis intercept, since leisure is a |luxury
good and the consumer is now wealthier

e. rotates in about the leisure axis intercept, since the consumer will now
work nore and have less tine to consune goods.

35. Dick's marginal utility of good x is 3, while his marginal utility of good vy
is 1. For Tom MJfor x is 1 and MJfor y is 2. Wich of the foll ow ng woul d
be a Pareto-inproving trade?

a. Dick gives Tomone unit of y and gets three units of x in return

b. Dick gives Tomone unit of x and gets two units of y in return

c. Dick gives Tom3 units of x and gets one unit of y in return

d. Dick gives Tomone unit of y and gets one unit of x in return

e. Dick gives Tomone unit of x and gets one unit of y in return
36. When the price of x rises, we can illustrate the "substitution effect” by

a. rotating the budget line inward about the y-intercept.

b. rotating the budget line inward about the x-intercept.

c. sliding the budget line around the initial indifference curve.

d. shifting the budget Iine parallel inward.

e. rotating the budget |ine outward about the y-intercept.

37. The price of x is $5. At point G on Ann's budget line, her marginal utility
of x is 10 and her marginal utility of y is 5. FromG Ann could increase her
utility by noving al ong her budget line in the direction of buying nore vy.

VWi ch of the foll owi ng woul d be consistent with these facts?

The price of y is $2.

The price of y is $3.

The price of y is $6.
The price of y is $11.
The price of y is $28.

PO
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38. A conpetitive firmfaces a price of $10 for its output. The firmis current
output is 50 units. At that output |evel, average cost is $6 and is falling as
out put expands. The correct advice for the firmwould be to

a. expand out put because price exceeds average cost.

b. reduce output because price exceeds margi nal cost.

c. keep output the sanme because it is nmaking a profit.

d. expand out put because price exceeds margi nal cost.

e. W can't give advice because we do not know the firms marginal cost.

39. Fromnow to the end of the year, a firmnust pay a sunk cost of $50 per
nonth. The highest profit output it can choose produces only $100 per nonth in
revenue while costing $80 per nmonth in avoidable costs. The firm shoul d

quit the business now because it is | osing noney.

not shut down before the end of the year

shut down now tenporarily but reopen after the end of the year

stay in business permanently, even after its sunk assets wear out.
expand its output further to enlarge its market share.

Pooow

40. A consuner's marginal rate of substitution is to (the absolute value of) the
sl ope of her budget line as the ratio of a firms marginal products is to

the ratio of its input prices.

its ratio of average to margi nal cost.

its ratio of total cost to output.

its marginal rate of transformation

the slope of its margi nal cost curve.

Pooow

GO TO NEXT PAGE-----
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PROBLEM
Do both parts of the following problem G aph the indicated curves on the
grid on the | ast page. Show your scratch work on the back of this page.

Part A® A nonopolist faces a demand curve given by P(Q =12 - Q where Pis
the price and Qis the total output.

(i) Graph and | abel the demand and margi nal revenue curves.

The nonopolist, which operates many pl ants, has an overall margi nal cost
curve given by M(Q = 2Q (That is, the marginal cost in dollars at any

output level Qis found by multiplying Qby $2.) |Its average cost curve is
given by AC(Q = 1-Q

(ii) Graph and | abel the margi nal and average cost curves. Also |abel
the nonopoly output as Q, and the nonopoly price as B,.

(iii) I'n equilibrium the nonopoly price is P, =
and the nonopoly output is Qu =
(iv) At that output, average cost is ACQ,) =

(v) The nmonopoly profit is

p
(Hnt: How would you find the total cost fromthe average cost?)
(vi) The consumer surplus is CSs =

(vii) Welfare is W =

#Part B:# Now, as a result of an antitrust suit, the above nonopolist is
broken into many small firnms, with each new firm operating one of the old
nmonopolist's plants. Since the industry is still operating the same plants,
t he margi nal and average cost curves for the industry are the sane as

before. (Assune that no new firnms enter the industry beyond those created by
t he break-up of the nonopolist.)

(i) The conpetitive equilibriumprice will be P. =
Label this price P, in the figure.

(ii) The conpetitive equilibriumoutput will be Q. =
Label this output Q. in the figure.

(iii) The average cost for the industry will be AC(Q.) =

(iv) The industry profit is now p =

(v) The consuner surplus will be CS =

(vi) Welfare is now W=

(vii) Under nonopoly, the deadwei ght | oss was DW =
(Hnt: 1If you conpleted the rest correctly above, you should not need to

conpute the area of any additional triangle here.)
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